N of reco track vs dxy [\ of associated (recoToSim) tracks vs dxy N of associated (recoToSim) looper tracks vs dxy

true tracks
=
om
fake tracks

duplicate tracks

Tl i

b g f:

ogf--t-- - u E 2a]-k- HERHREIR LRI 2R A R A B || N oo oo
-25-20-15-10-5 0 5 10 15 20 25 —25- 20 15 10 -5 0 5 10 15 20 25 =25-20-15-10 -5 5 10 15 20 25 0'—25—20—15—10 -5 0 5 10 15 20 25
track dxy (cm) track dxy (cm) track dxy (cm) track dxy (cm)

Ratio
-
N

N of reco track vs dz [N of associated (recoToSim) tracks vs dz_] | N of associated (recoToSim) looper tracks vs dz |

tracks

10° 10°

true tracks
fake tracks

10* 10*

duplicate tracks

10°

10?

10

b
= I|III|iII

g : IIIII
o d

=30 -20 -10 O 10 20 30 10 20 30 =30 -20 -10 O 10 20 30 530 =20 —1 1 20 30
track dz (cm) track dz (cm) track dz (cm) track dz (cm)

Ratio




	Contents
	Page 1


